MG SPREADING SYSTEM

User Guide
(EJEERL
A—Y—=HAK
2018.03

cip



Disclaimer

Thank you for purchasing MG Spreading System (abbreviated as “Spreading System”). Read
this disclaimer carefully before using this product. By using this product, you hereby agree to this
disclaimer and signify that you have read it fully. Please use this product in strict accordance with
the manual and be sure to pay attention to the Warning. SZ DJI TECHNOLOGY CO., LTD., and
its affiliated companies assume no liability for damage(s) or injuries incurred directly or indirectly
from using, installing or refitting this product improperly, including but not limited to using non-
designated accessories.

DJI™ is a trademark of SZ DJI TECHNOLOGY CO., LTD. (abbreviated as “DJI”) and its affiliated
companies. Names of products, brands, etc., appearing in this manual are trademarks or registered
trademarks of their respective owner companies. This product and manual are copyrighted by DJI
with all rights reserved. No part of this product or manual shall be reproduced in any form without
the prior written consent or authorization of DJI.

This disclaimer is produced in various languages. In the event of divergence among different
versions, the Chinese version shall prevail when the product in question is purchased in China, and
English version shall prevail when the product in question is purchased in any other region.

Warning

1. The Spreading System is only compatible with the DJI AGRAS™ series aircraft (refer to “Specifications”

for details). DO NOT use it with other products or for purposes other than agriculture.

2. The Spreading System is compatible with dry materials of a diameter between 0.5 - 5 mm. DO
NOT use with other materials. Use with other materials will adversely affect operating results and
may damage the Spreading System. All materials must be used in strict accordance with the
instructions for those materials.

. Internal spread tank load must not exceed 10 kg.

4. Use of a threadlocker is required during the installation process. Ensure that the threadlocker is
totally dry and solid before flight.

. Ensure that the hopper gate and spinner disk function normally before each use.

. Operate with caution to avoid injury caused by mechanical parts.

. When spreading is in progress, maintain a safe distance from the Spreading System to avoid injury.

. DO NOT use liquids to rinse the Spreading System. Dry compressed air is the recommended
cleaning agent.

w

@0 N o U

Introduction

The MG Spreading System is compatible with the Agras series aircraft. It offers efficient, reliable
and stable spreading operations when used in combination with the Agras series aircraft. Material
delivery rate is precisely controlled by the built-in stirring device and material hopper gate. This can
prevent material blockages and improve operating accuracy and reliability.

Use the DJI MG app to set parameters such as hopper outlet size and spinner disk rotating
speed. These parameters can be adjusted to meet different application requirements. The DJI MG
app provides empty tank warning notifications. The app also provides warning notifications for
abnormalities in rotating speed, temperature, and hopper outlet size. These warning notifications
help ensure system safety.

© 2018 DJI All Rights Reserved 1




In the Box

Spreading System x 1 Spinner Disk x 2 (Spare) Landing Gear Leg Screw Pack
Extender x 4

ﬁ M3 x 6

Overview

Spreader

Spinner Disk

Installation

NOTE: A hex key for M3 screws is required for installation.
1. Mount landing gear leg extenders when using with an Agras MG-1S series aircraft.
a. Remove the eight M3x6 screws in the lower section of the two landing gear legs. Then
remove the two landing skids.
b. Mount the four landing gear leg extenders to the original landing gear legs. Be sure to align
the screw holes. Then insert and tighten the eight M3x6 screws.
c. Re-mount the two landing skids using the eight M3x6 screws.

2. Mount the Spreading System to the aircraft.
a. Loosen the four M3 screws on fixing bracket on the left landing gear leg. Then slide the fixing
bracket to a position 125 mm below the landing gear mounting base as shown below, and
tighten the four screws.

2 ©2018 DJI All Rights Reserved



b. Lift the spread tank with the mouth of the tank facing towards the rear of the aircraft.

c. Insert the plugs on the left landing gear leg into the mounting holes on the spread tank.

d. Slide the fixing bracket on the right landing gear leg to a position 135 mm below the landing
gear mounting base as shown below, and align the screw holes on the fixing bracket with the
fin on the right side of the spread tank. Tighten the two M3x12 screws, and insert and tighten
one M3x10 (Plus) screw.

M3x12 M3x12

e. Connect the cable to the Reserved Expansion Port 2 (7-pin) on the aircraft body.

Usage

1. Open the cover of the spread tank as shown, add compatible materials, and then close it.

B4

© 2018 DJI All Rights Reserved 3



. Power on the remote controller, and then power on the aircraft.
3. Enter Operation View in the DJI MG app.
. To set the hopper outlet size, spinner disk rotating speed, and flying speed, tap the Spreading

Settings button , which is located towards the top of the interface.

Adjust the settings so that they are suitable for the materials you are using, and test for the
desired operating effect.

NOTE: It is recommended to:

¢ Adjust the hopper outlet size so that the material delivery rate can be 1 kg/min.

e Adjust the spinner disk rotating speed so that the spreading range can be 4 to 6 meters.

¢ Set the flying speed to 4 m/s. (Flying speed setting is invalid in Manual Operation Mode)

. Enter the operation mode required to start spreading for your aircraft. The Spreading System

operation methods vary in different operation modes.

Route Operation Mode

After starting an operation, the aircraft ascends to an altitude of 4 meters and the spinner disk
spins. When the aircraft reaches the route starting point, the hopper gate opens according to
the set value and the aircraft flies along the route and spreads material automatically. Spreading
cannot be started or stopped manually.

The operation resumption function can be used during operation. Once the operation is
paused, the hopper gate closes automatically to stop spreading while the spinner disk is still
spinning. After operation is resumed, the aircraft returns to the breakpoint or projection point and
continues spreading.

A-B Route Operation Mode

After Point A and B are recorded and the aircraft enters A-B Route Operation Mode, the spinner
disk spins. When the aircraft reaches the first turning point, the hopper gate opens according to
the set value and the aircraft flies along the route and spreads material automatically. Spreading
cannot be started or stopped manually.

The operation resumption function can be used during operation. Once the operation is paused,
the hopper gate closes automatically to stop spreading and the spinner disk stops spinning.
After operation is resumed, the aircraft returns to the breakpoint or projection point and
continues spreading.

Manual Plus Operation Mode

Switch to M+ after the aircraft takes off. Press the Spray button (here used as the Spread button)
once to start the spinner disk. The hopper gate opens according to the set value and the aircraft
spreads material automatically once it has begun flying.

Manual Operation Mode
Switch to M after the aircraft takes off. Use the Spread button on the remote controller to start or
stop spreading.

Q In all operation modes except Manual Operation Mode:

e When the aircraft flies forward or backward, the hopper gate opens automatically to start
spreading.

¢ When the aircraft flies left or right, the hopper gate closes automatically to stop spreading
while the spinner disk is still spinning.

4

© 2018 DJI All Rights Reserved



Spreading System Calibration

When to calibrate

The Spreading System has been calibrated before delivery. There is no need to calibrate it before
first use. Calibration is required in any of the following cases:

* The hopper gate cannot fully open or close.

* The material delivery rate is different from the desired value.

® The app incorrectly displays empty tank warnings.

Calibration Procedure

In the app, enter Operation View. Tap e at the top of the screen, then tap Calibration in &

Spreading System Settings. Wait until the app indicates calibration is complete. If calibration fails,
try again.

Maintenance

1. Clean the residue inside the spread tank and spreader. Using dry compressed air and a clean,
soft dry cloth is recommended. DO NOT rinse with liquids.
2. The spinner disk is a consumable part. Follow the steps below to replace it if obvious wear
exists.
a. Ensure the aircraft is powered off. Then unplug the Spreading System cable.
b. To unlock the spreader, pull the spreader lock knob out, rotate it 90 degrees, and release.
Then rotate the spreader to detach it.

Lock Unlock

c. Remove the nut, washer, four M3x6 screws, and spinner disk at the bottom of the spreader.
Mount a new spinner disk and secure it using the washers, M3x6 screws, and nut.

—— Spinner Disk

—— Washer

M3x6 Screws

5 Nut

© 2018 DJI All Rights Reserved 5



d. Ensure that the spreader lock knob is in an unlocked position. With the knob located to the
left of the circular indentation on the spread tank, insert the spreader.

e. Rotate the spreader to mount it to the spread tank. To lock the spreader, pull the spreader
lock knob out, rotate it 90 degrees, and release. Ensure the spreader is locked in position.

A Operate with caution to avoid injury caused by mechanical parts.

Specifications

Compatible Aircraft

Weight

Spread Tank Volume

Spread Tank Internal Load
Compatible Material Diameter

Max Hopper Outlet Area

Spreading Range

Agras MG-1S, Agras MG-1S Advanced®,
Agras MG-1P series*

1.8 kg
13L

10 kg
0.5-5mm
8.6 cm’

Varies according to material diameter, spinner disk rotating
speed, hopper outlet size, and flying altitude. For best
operating results, adjusting the corresponding variables
to achieve a spreading range between 4 - 6 meters is
recommended.

* Coming soon

The content is subject to change without prior notice

Download the latest version from
http://www.dji.com/mg-1s

AGRAS is a trademark of DJI.
Copyright © 2018 DJI All Rights Reserved.



==
wEA
RBETISE MG B (TR “EMEST ) . SR, BImTEAR, —BE,
BRI A IR E A SR ATTHIE S . PR A T RS0, HeuEnE
SE, ERRRAER. R B (ABRRTEAHE DI ISR TE ) ERET
IR, FHIFASEOIN ™ R EIRA S MR A S R TE (.

DJI RYITHASECUF R B RA TR EXKATAIEIR . AHIMAI~RER. mEE, B85
HE B AREIREOEMER. A mbi SR Im AR R BR ARG . K&
YFRT, MELUMHIRZZLERIEIE

KFAEESRANRERFRTEFAEINENER, FEUFRE, Bttt KSR

EEEMm

1. BHESRMERT DI MG RIURIAEREN (BANEN “MESE” ) , Y2EEM m
EEAS AT RIAERLSMIRE

2. BHARARESERINERD 0.5 - 5 mm B9TEME . TIDEREMARE, SUSZmiEL
WR, ESRINEHES . RN, MRRBYIRARSAIERRBETERE.

. RS FUFENERRAHE 10 kg, YIDEBEER,

- RS ERIRLE, FRRIBZERSSETIRENEH T,

- BXMERRT, ECIIHEESIN, BHEEKERIER.

- ERITSELVG, ERHEESHT

TR R, SUITBEREEESR, LREMASHE.

- BEDKSE . BINERTRNER=SHEHTES.

I

MG IEMR SR —UEATF DI MG RIIRIABENMEY, BEHZEE WTR, TamE.
A, BENEMEL ., AEREEEREN OO SN, BERIEEEE, FE8
IFERHEEE, RSP ERE RIS . AP RNEE DI MG App IREGOX/N. BHERILERS,
BERRIEHSNEREER. DJI MG App FHERERHRERIE. RE. COANSSHR
BIRE, WIRRAKRRIET.

Pamim e

RS x 1 EEE x2 (8R)  REEERE x4 18226

o N OO 0o b~ W

T? M3 x 6

©2018 KEEBIF WRiFE 7




BB

SHO

®” &

BESERT M3 2L EIRE.

1. £ MG-1S RIITKI788 HERRT, BLETEINIKE,
a. BIREEEREETAN 8 BIM3 x 6 1242, AAGHEIMFIIRISEL2EE .
b. % ARSEINI R EEREETIES, TEXTHERLI, RAEITE 8 TIM3 x 61842,
c. EREIEREE, ITE 8 M M3x618%,

2. REBEHESE KT
a. ITIAEMEEELR LR AEEIEHER 4 BIM3 1222, ARBHBMERERERTENE
125 mm &b (W) , ITRIRZ,
b. FEEEELFEIIRIOREE, FERiElfE,

8 ©2018 AEOIH HRIUHE



c. fEAMFEEER ERMRAEEEMER AR ERIZ %L .
d. BAEMEER EHNEEG LIBEERRER%RRE 135 mm & (WE) , FERlLEEN

HIEIE R SHEZR FRYZAEFLXITT, 175 2 B M3 x 12 824700 1 1 M3 x 10 (Plus) #2822,

M3x12 M3x12

e. FEEABAN VITRREAOTET BEO 2 (7).

= A

1. RBERD TS, IINEBWE, AREXT.

Ea

2. RRFTIRBIERR R TS

3. #\ DJI MG App 1RV FE .

4. [ EHBBSHREIRE , RECOXN. BELR. VTRES., BP%ER
FRIBPTERIIEERES 283 T, PUARIFRERERR . FiIX:
AT EAXIMEBDHERIERN 1 kg;
 BTHIBIERLIRFIEECCEN 4 - 6 m;
CRE KTERER 4 m/s ( FaEUEX T UTREREAEN) -

5. IR KITRERS EHNFTREERN S TREREL . BHESRTEARIEER TINETE
AIEBEARRE .

© 2018 KiBtUsT HRIFFE 9



AgfEill &=l

WATIRALS, WITsSE S ERE 4KSE, RIEHEFREN. TR CENLER, €
I HRIBEMREFE, $TsiaMs WITIHERM . BR AR FRF RS LR

RV ERRIRETIRE: (FIVERE, BI1XH, BRYFLE (BREMakeEts) ) ; 4
RIS, 6728 CRIhMTA iRmEiR® <, A BRI EERIRL .

A-B mfFlR=(

FRINICR AL B RFHIRE A-B RfRIRRE, BIMEFIRED. T8 v EF— T <A,
CIHREBIMRERRE, WTn(RlsL WTHERE . BRI FFESEIEER.
PRSI RIMRETIRE: (RVEERE, BIXKE, BEISLE, B, HErlfE,
TWiTER SEIFETAMRREIRE R, S BRI .

HERBIF AR
wiTRRE NS, UHEE M+ (RIEE, AR HREERE R (A E iR
B ) LMEBRERED .. WTRTRYVTRE, I HRBMRERE, FasiEi.

FapfrdliE=l
KRR C/E, RE M RIMETL. AP AR R F IR R LR

e BRFaEAERIh, BRI
< YTRERIE WITRICTIBIE, BT
KTREA VI EIIBIXRE, (FIEEE (FERENREEE) .

BRRRRHE

FERENRBR
BHERSLH HETmE, TEEER. SEREILITER, UBFRHEETRIE:
c BIITETE TR,
 ERRERSTHMERRE
* App IRIRTCHHRE »

RELR
BEN App {EULRTE, sSdh L0 <00 BliR, £ S BHRARERSHRE, RAESEHE
SERL. BRUERN, HE.

HE4P R 37

1. EHBEIPIAENERRAAE . BNERTRNEF=SRSEITEE, FERTER
BROTFigin. Y27kt

10 ©2018 KsEolET WRAURAE



2. B NSIERMY, WFEBRER, BERINT SRR EREAE
a. R TSR, ARMITHENRRIEES.
b. EYMEHEIBIINEH, 465h 90 ERMALIRRMNE, RRiEsiBiSERFT.

c. BIREEN THRIEE, B, 4 BIM3x6 B RIEHE, ARTENNENE, X0
BEFHTE M3 % 6 1242 R I26F
@ZEEZD D e
—uTS e
8181 M3 % 6 8824
& 25
d. RBEWISIIEHA TR, SisHuERaIFLE ERFMENAN, AEmL
BRI
SUERERE..

e. RIS HEZRE(RAE, RREYMEEUEREE, #8560 90 EFRFFLAE
B HRRERTIBERNZ .

AN SRuNGIRE, EBYREIEE.

© 2018 XSEEIH MRIAE 11



MEsH

SEY I MG-1S. MG-1S Advanced*. MG-1P &%l * RAAEFHL

B2 1.8 kg

B FEER 13L

R R e BB REE 10 kg

SRR ER 0.5-5mm

BACIHOER 8.6 cm?
SR ER . BHEER. o0 MIeEZEREEX.

HERCEE FENEFIERIEXTSE, (FEREELT 4-6m, LEREREF
AR RIER

* BREsEF

ABMBEH, BASITE,
ZRILAE DJI ES MBI &HTRA
http://www.dji.com/mg-1s

DJI R ARSECIFRAIRIHE
Copyright © 2018 K3EEIHT hRIFIE

'

E L
HEF—RAXE
RBRUARS

S
g



REFHE

CDEIE MG REIEHRY AT L (LU THEEHRY AT L) EEE) ZHBVEIFWEERIC
HINESTETVET, AERZDTHERFIC. COREBEL L BFTH T, AEUFEFR
5L COREEEAINTCHH CNCEBELEEDEFHFGEINE T, AERE SHERAORERIL.
RIa7IVDEEHBEEREST L. BHITEEL TV, SZ DJI TECHNOLOGY CO., LTD. &%
DEFERIE. $§mﬁ1ﬁm§@% Y FFEISEE GEENADT 7t ) —DERGEH
BENETY) ITKY . EEFIIBENZRRTE CIRYNBEEIFABNHEITOVTLHLED
a&%amiﬁho

DJI™ &, SZ DJI TECHNOLOGY CO., LTD. D&EETY, #LT DI ) BLUZOEERHD
BIETY, AZICEHINTVRER. 7o REEDETIE. ZOFREE THHZHEDBIEE o
IEBEREIEC T, ARBBIUATZ 277)VIE. FEFEL - BEMEREH AR &5 DI OE(EY
Dfcsd. DI D SEMEICL DB AR CIEFHFEEBIT L @ASHDOETAREREIEFT 2
TILDWHIEBHDEEE T DT LIFECECENTVET,
COREZBEIFEMOEZBCREINTVE T, SSEROARICEENHZHBE. FETEALT
NEEHBITOWTIEFEEBROABHIMEBL T . MMOHIF TEA TNZRRIT DN TIETEERDN
BMBELEENZEDELET,

40

. COREIEAY R T LdE. DI AGRAS™ 1) — 1@%%§%Tﬁ(ﬁﬂwomzﬁ\F&ﬁj
EBE) . ORI 1@%L&u?<t*m FRELUANOBRIERLEVWTLEE
. TORFEEIRY AT L, b05~5mﬂ®?@btﬂmnﬁmbfviﬁo%@Wﬁ
ﬁ%bfmf<tﬁvo%@ﬁﬂcﬁﬁiét\%D&DE%W@%%Hbﬂﬁxﬁ%ﬁﬁ/X
TLMBIET 2HEFTNHA DY EYT, EONAEFRYT ZBEE. HAICET 2ismarTLT<
ZEWn
. KRR 2 > 7 DNERERA 10kg ZBA VLS ICLTLREEL,

B ) fSF1TREepic, mbtwﬁ%@%iéﬁgﬁﬁuiﬁ FITETIC. A CLEDdRATRITE N
TELES>TWBT EEERL TS
. fERT BEilcER. vy R2— t4/ﬁ7miﬁw%%ﬁézt%ﬁﬁbf<ﬁémo
. BHERTERERE LEVESICESICBRIEL T EEL
R TRIE. BERE LEVESICHBIBIR Y AT LD SRR EEA R L T<ET 0
C RBBI Y AT LOBNEZETOITREEFER LGV T TV, HAICIE 5218 LTI TRz
SEERT BT EEHEBOLET,

-

\}

» W

@0 N o U

(¥ Colc
MG RIBIBIR S AT L&, Agras /1 — XDBKITH IS L TWE Y, Agras ') — DR & $Hd+
ébﬁ?@%?éztﬂ&U\%$W?ﬁﬁﬁ@;u§ibt%%ﬁﬁﬁ@%ﬁaCtﬁ?*iio
HEIOEIREIE. AEINTVWABHEBLENAIY vv 2—ICE > THERICHIEINE T,

KU HHEFEFYEBIETE, BIEDBELEEEEALTEEY,
DIMG 7SV EFBLT. BEPREIGE/NSA—2—ERELET, INSD/I\FTA—42—%
LT, TETEEPROBHERZT IENTEELT, DIMG 7T, B2 7 EEEN%E
HIBTENTELET, CO7 SV I B BE. HEDRELEEBNART 2 LN TEXT,
INSOEEENIE. Y AT LOREERRFETHDIRIIBET,

© 2018 DJI All Rights Reserved. 13




Eitiiky)

HEEAR YV ATLX 1T ARSX2 (Fw) SUTAVIETH RNy
IURATVE—X4

M3 x 6

RIBEAR 2 >

HEEmEOY s /T E I — S WESHR

ARZ

Y ST
SEER  RUATIFITIE. M3 R CBASAL Y FHARETY,
1. Agras MG-1S &/ 1) —XDIKICER T B EEE. ST A VI FTHIO R TV A—%EY A
EXE
a 2ARKDT VT A VIFTHOTEICHZ 8ERDMI X 6 RUEZRMUALET, KT, 28D
VT VI AFy RERUANALET,
b. AKDS VT A VIFTHIVATVE—BRTDS VT« VI FT7HICERIMITET, &9
RERDMUBICEDETLIEEL, RIS, 8ERDM3 X 6 RCEFEA L THOMITET,
c. 8ARDODM3IX6RLEMFEBLT. 28NS VT 1 V7 AFY REBURWUMITETY,

2. JUIRIEI Y AT LEAICE ) (T E T,
a. EDS VT« VIFTHOBET Sy Mc®H D 4XDMIRUEEHETT, Xic. BDKL
SIKEET Ty VST IFTIUY PR=ZD 125mm FTOMBE TATA KT
. 4 KDL CAFEDFITET,

14 ©2018 DJI All Rights Reserved



b. HEEIR S > 7 ODOSEEDEAICEWTRE T, RAIBHES2 > 7 Z/FELITET,

c. EDQTUTAVIFTHNCS DTS 7 HRFEIBIRZ > 7 DBUMIFINICEALEY,

d. FTRIDOKSIC. BOZ VT4V IFTHOBET STy N a0 T4V IF 7RI bR~
AD135mm FOMBETRAZA REE. BET 7 v DR CREREIEIEZ > 7 DAA
ICHB Y ADMBICEDETET, 28D M3 X 12 R CEFHEDIF. 1RKDM3 X 10 (FZR)
RUEBA L TRHODTITET,

M3x12 M3x12

e. T IV ERBKRKICHZDFRIBER—F2 T EY) [TERLET,

ERAE

1. TROESITREEFR R > 7 DAHN—ZRE. WIST 2HEIZANTHS. A/N—=ZFCET,

4

© 2018 DJI All Rights Reserved. 15




!

2. XEHOEREZANTH SEEDEREANET T,

3. DIMG7FUT, [BRVET] 2Ry TLT. ZRIDR=IICAVET,

4. FEFE. Bl RATREZE L. Bl E2BICH 2 UNT A—2/E] A2 > w2y TLET,
FRLTVWAREICET AL SICRELXAE L. FLEDRIEERHNESNZHTANLET,
R U TOBREAHRLET,

o FIRIDEIHRED 1kg/ DICBEBIDICHEZRELE T,
o MFEFR DN 4 ~ 6 A— MUICHED LD ICOEHAERELE T,
e FRITEER 4m/s ICRELE T, (XZT a7 )VREFE— FTIE. RITEEREILED)

5. HEDKHIBIOBAICHERRIEE— FICAY £9, HBIBHY A7 LDOREFRE. BIEE
—RICE>TERVET,

RZaT7IVT S ABEE—FR

WABEREE. M+] IV BZEY, [BFE] 72> (CTTE. [BF] R2>ELTER
TNTVEY) Z1EHRLT. A ROEBREFEEET, BEDIRITERRT 5L, REEICE
DWW vy 2—DFE. BEDEENICREIEBHRLET,

RIZaTIVREE—F

WREERER.  M] (CYIUEBZX XS, XEHD [Bm] R 2ER LT MEBHORE, 1=
IEEVEZE T,

£ RZATIVREE— FUADIT N TORIEE— FTIE. LUTDLSITBEDET,
o IO RIAEIFBRAICRITT S EEIE. v v 2—DBEENICEL CREIBFR Z R L
£9,
s MEDEGICRITI 2L EE A URTREERLEITETH. vy 2—HBEEMICELC
CRIRIBARZEFRLELE T,

KRB AT LOF Y ) TL— 3>
FrUTL— 3 VHRELHE

WEBRY AT LI BERICF Y VT L—2 3V ERTY. POTERIT2RDOF ¥V TL—
IVIAETY, UTDBEICFY T L—2 3V HDETT,

o vy B—DTRICBRATERL,

o NFDEmREDNFREDBERE S,

e VTR TEAV VEENKRTENS,

Fy)IJL—23VFIRE

TTITC, (RRIRIF] "HZY T, BRI DR—VICAVET, BELHICHD e0e B2V L.
L HHEHYRATLRE] T [FrUJL—rav] 22y TLET, FrUTL—Tav0
TTBMHT T TCKRRENDZETHEELLLEN, FrUTL—ravicklilizs, $5—F
PYUBELTLREL,

AVTTFVRA
1. WA R > 0 ERAISARESRORAIDREN ZB I FREX T, LW ERZRZEABL. FRT
EODVEZWHRTHO I LZHBHLET, RETHRLGEVTILEL,

16 ©2018 DJI All Rights Reserved



2. AUNRIIFEERTY ., BEPBIL>TERS. UTOFIBEITRH > TR L TLEEL,
a. WEDERDNA 7IE>TWVWA T LEMERLET., Ric. MABHY AT LD —7 )ik
TET,
b. KHBARERDA Y U Z#FT 2lcid. KABFREOY 7./ JZ5|EH L. 0 EELTHESK
LEY. Ric, fHEMRER L CRYNALET,

c. NEBHABOELRHSFY b, Tyyr— 4FXDM3I X 6HRLC. 1URTERUALET,
FLWA URSERIMIF. Tvyv— M3 X 6L, Fv &AL THEDMITET,

ARZ

—— Tv¥y—

M3 X 61l
=3 Fv b

d. HAEREOY 7/ ThOy VERMBICH ST AR LEY., / THREIEGRZ 7 £
DEFEORIFHBDEBICH ZHIRET. REERELTE LIAFHET,

e. NIFERERER L CRIFIBGRZ V71T E T, RFEHRREOY 79 BIcid, HEE
mEsAv Y/ J&5|EHL. 0 EBLTHSHLET, MABHRSRIFIENMEICOY I &
NTWBT ExHRLET,

A\ SR TERE LAVCES ICEEICRIEL T RE0L,

© 2018 DJI All Rights Reserved 17



!

1%

Agras MG-1S. Agras MG-1S Advanced*.

S L TS B Agras MG-1P /1) — X *

ES 1.8kg

WHER 2> 7 DRE 13L

HRIBIR 2 > 7 DS & 10 kg

WL TWBRBIDOBR 0.5 ~ 5mm

RAHE 8.6¢cm’
HRDBR. BE#l. HE. RMI1aEICL>TEGVET,
5 PEEREBDITIE. K EA 4~ 6 A —
LET,

EHEFTFE

CDAVTVVEFERCEET 5 ENBYET,
SHhETREY AT O—FLTLfEEN,
http://www.dji.com/mg-1s

AGRAS (& DJI DEHIETT,
Copyright © 2018 DJI All Rights Reserved.



DJI Support
DJI FIARZZ
DJI HR— bk

http://www.dji.com/support

If you have any questions about this document, please contact DJI
by sending a message to DocSupport@dji.com

INREXS B AR ISRIN, BBILLL TR FHEEEREA:
DocSupport@dji.com,

YC.BZ.85000367.01





